
MFM-8250

            MARCY   FIT  
DELUXE HOME GYM

MÁQUINA DE EJERCICIO
MARCY® FIT DELUXE

MFM-8250

 Information in the Owner’s manual before assembling this product. 

120802

NOTA: Por favor lea cuidadosamente todas las
instrucciones antes de utilizar este producto

IMPORTANT: Please read the Important Safety Notice and Assembly 

Assembly Manual 



1



2



3

61



4



5

109 12



1

6

89 x 2

x 4104

96 x 2

95 x 2

x 6101
Ф

M10 × 3　

M10 3/4″

3/4″

M10 ×　3/4″ M10 × 2　1/2″

36



2

7

89 x 4

x 1104x 6101 Ф M10 3/4″

M10 ×　3/4″

180 M10 ×　4″



3

x 4101

88 x 4

78 x 2

79 x 2

x 4103

M10 x 1″ M10 x 3 1/2″

M10 x　5 3/8″ M12

8

x 8100 Ф 1″ Ф 3/4″



4

9

89 x 2

x 4103

x 2101 Ф

M12

 3/4″M10 ×　3/4″

476 M12 ×　8 1/2″

x 8100 Ф 1″



5

10

190 M8 ×　3 1/2″

291 M8 ×　2 1/8″

293 M8 ×　5/8″ x 6102 Ф 5/8″

A

A



6

11

92 x 2

x 2106 M6

M8 × 1 5/8″

177 M12 ×　8 1/4″

x 2102 Ф 5/8″

x 1103 M12

x 2100 Ф 1″

M6 × 3/4″

52 x 1 Ф 1/2″x 8″

A

 

A



7

12

84 x 3

x 6104

x 12101 Ф

M10

 3/4″

M10 ×　2 1/8″

180 M10 ×　4″

281 M10 ×　3 3/4″

137

101

A

66 B



7-A

13

7-A

37

37

104 101

101

68

67

67

66

28

84

7-B

7-B

5

66

37



8

14

x 7104 M10

180 M10 ×　4″

283 M10 ×　2 1/2″

384 M10 ×　2 1/8″ 286 M10 ×　1 3/8″

x 15101
Ф 3/4″

139

A

B

B

C



8-A

15

39

8-B
8-C

54

39

 7

8-A

8-B 68  67 
 20

 68  67 

 66 

 39

 84 

101

101

104

 67 

 68
 68 

 19 

 67 

 84 
101

101
104

 39 66 8-C



9

16

x 8104x 16101 Ф M10 3/4″

M10 ×　3″

484 M10 ×　2 1/8″

182 285 M10 ×　1 3/4″

187 M10 ×　1 1/8″

138

D

C
E

A

B



17

9-A

9-A
9-B

9-B



9-C

18

9-D
9-E

 67 
 68 

 19 

 67 

 84 
101

101
104

 66 

 68 

9-C 38 

9-D

68

68

38

9-E

104 101 66

67
28

67

101

 84 

104 101 38

87

2
101



10

19

109 x 12 M10 ×　5/8″

99 x 12 Ф 1 1/8″

109

109

109

109

109

109

99
109

109

10999

109



20

10
9

10
9

10
9

10
9

10
9

10
9

89

10
9

10
9

10
9


	MFM8250 assembly manual-封面.pdf
	MFM8250-1 assembly manual
	封面.pdf
	page01
	page02
	page03
	page04
	page05
	STEP01
	STEP02
	STEP03
	STEP04
	STEP05
	STEP06
	STEP07
	STEP08
	STEP09
	STEP10
	EX

	MFM8250-2 assembly manual
	封面.pdf
	page01
	page02
	page03
	page04
	page05
	STEP01
	STEP02
	STEP03
	STEP04
	STEP05
	STEP06
	STEP07
	STEP08
	STEP09
	STEP10
	EX




